w TrEswiran b re

f

40.

TS MWW RRw s Tm _——

o PO (V) wrfb Rrad (o] = +10.0° 20 fivewa X'
8 Y T WA T FN)
g &
CH,-C-G-CH, 10, 5 p K5 . Identify Pand Q.
H

(T3 R P a: Q AT 1)

&)
.
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Chemistry Aptitude Test — 201’8
Stage - 1V (For Class : X11)
Full Marks : 50 Time allowed : Lhr. 30 mnis.

[Instruction for the candidates|
Group-A
Multiple Choice Questions: 1x30=30
. Crystl field smbilisation energy for high spin d* octahedral complex is
(d: e WA [ZFF (high spin) &% CFSE Z=1)
a) -184; b) —1.6A +P
) -1240 d) —0.64,
Which one can not be synthesised by Gabriel phthalimide synthesis?
(Gabriel phthalimide synthesis SR IR0 08 ¥ T 1)
a)  Methyl amine b) Amiline
c) Ethylamine c) Propylamine
3. Whatproduct would be obtained in the following reaction?
(oo e e Aib Besim = 1)

T NHOH

[Page1of10]
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Which of the following does not give oxygenon heating?

(Biva @ R SRR el A ?)

a) KClO, b) Zn(ClOy),

¢ KCno, d) (NH),Cr,0,
Mbwnwndforﬂ]escpm!hnofnaphﬂwmandbenmicacidﬁom
their mixtureis

(=R ¢ e T R AR TS T e
= —)

a) Chromatography b) Crystallisation
(GFICHIT) (CF=TEF)

¢) distillation d) Sublimation
(+Ir==) (Bnéerem)

The products obtained when chlorine gas reacts with cold and dilute .
aqueous NaOH are '
(orPiroet NaOH 1 3w CL, < RERm Seote 2 —)

a) CrandClO- b) Cl-and ClO-,

¢ ClOandClO; d) ClO; and CIO,”

Which one of the following jons exhibits d—d transitionand Paramagnetism
aswell?

(ﬁm@ﬂmd-dmﬂmmﬂ

a) MnO, b) Cr,0.*
o CroYr d) MnO,” _
Which of the following Compounds can form Zwitter ion? L
(5% I SO S BAIF ) ~N =
a) Bemzoicacid b) Acetanilide 7
¢) Almine d) None ofthe above

[Page20f10]
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9.

10.

11.

12. GivenEy u e, = 0337V and E’cyesct™

The optically inactive compound inthe following is
(Grsw e ST R A ?)
b) 2-Chloropentane

a) 2- Chloropropanal
d) 2—Chloro- 2 —methylbutane

¢) 2-Chlorobutane

Ethyl alcohol on heating at 300°C in presence of Cumetal produces

(Cu g7 BT AR AR 300°C Syom Tad FI0
TeA )
a) CH-O0-CH,
¢) CH,-CH,
When — 2 — hydroxy benzoic acid is distilled with Zn dust, it gives
(T a—q@ﬁmﬁawﬁwm{%mmﬁwwmm
ca st ~thea T, BT T —)
a) Phenol
¢) Benzaldehyde

b) CH,=CH,
d) CH,CHO

b) Benzoicacid
d) None of the above

0.153V

The value of E° for the change of Cu* +e=Cu is:

(RGN W B2, o, = 0337V o Egyajcut = 0.153V

Cu* + ¢ = Cu AfFREra & E° qA U T 1)
a) 038V b) 0.90V
Q) 030V d) 0.52V

13. Abottle of commercial hydrochloric acid (density 1 .50 g/ml) is labelled

as 70% by wt. The molarity of the acid is :

[Page30of10]
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15.

16.

17.

(sl cavete e wRTgEnRw SfsT (79 1.50 gu/ml) AT
70% (9% AT Smiires el ze o)

W 1876 b) 28.76

¢) 3876 d) 40.20

The correct sequenc of reagents for the following conversion will be :

(e g Axas F0s vage Rerces 5He 7121 —)

o HQ CH

>

HO —-CH,
CH,
8) CH,MgBr; [Ag(NH.A)I]‘OH‘ ; HY/CH,OH
b) [Ag(NH,),]'OH-; CH,MgBr; H'/CH,0H
©) [Ag(NH,)J'OH-; H/CH,0H; CH,MgBr
d) CH,MgBr; H'/CH,0H ; [Ag(NH,),]'OH-
Which one is classified as a condensation polymer?
(Cuit @t—'(fbm M=)
a) Acylonitrile b) Dacron
c) Neoprene d) Teflon
The major organic compound formed by the reaction of 1, 1,1~
trichloroethane with Silver Powder s :
(1,1, 1 BIRGHT R 3 St Ag B R g2 i z=)
a) 2-—butane b) acetylene
¢) ecthene d) 2-butyne
IfAgClis doped with 10-* mole% of CdCL, then concentration of Cation
Vacanciesis:

3

CHO

[Pagedof1a]

19.

20.

21.

S E LSOO AT T R v 2]

(1% AgCl @ 103 mole% CAC, Twif#e 20 OTI FOH LT LI —)
a) 6.02x10% b) 6.02x 10"

¢ 6.02x 107 d) 6.02x10%

What happens when mercuric iodide is added to anaquous solution of
Ki=?

(K] TSR TSR S Ea0 NAfro 2 STateiRs G 90 & 6ra 7)
a) freezing point increase b) freezing point decrease

¢) freezing pointdoesnotchange d) None is correct.

A compound ‘X’ undergoes tetra meriztionin a given organic solvent. The
vant Hoff factoriis:

(9=fb T2 aRE @b (AN X’ @7 BRI AT =W | TR ST
T (T IR —

a) 4.0 b) 025

¢ 0.125 d) 2.0

For the half cell reaction H*(aq)+e—>—;}g (g), which one is
correct.

(SRR ¢ He(ag) e —>% H_ (g).< corom A o )

a) Ewm=-592mVxp" b) E%m, =—592mV xp*
¢) Ewm=-592mVxp" d) Ehm, =—592mVxp?
The intermediate obtained in the following reaction :
(Rrvm Rftmfba et o oS 7 —)

o -2

R (nl Cl ﬂ—}R N
T heat ~NE,
O
I e
a) R-C-N=N b) R-N=C=0
c¢) R-CNO d) None ofthese

[Page5o0f10]
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22. The Pk-: and pk_ivalucs of alanine are 2.3 and 9.7 respectively . The

isoclectric point of alanine is :
(RTR Pk, R P, AN 2.3 R 9.7 T A SRR TGS
*0rd TE —)
a) 3.0
c) 8.0

b) 7.0
d) 6.0

N

HNO.
23. O_/ H, TC—%- product, which one is the major product?

24,

(Bl RfdFamr @ g smidr)

2) O«m

o, .
o L, & CXa

Whid:ofﬂwfoﬂowh:gmﬂﬂgosacidwdyseddchydraﬁmnmmdﬂﬂ
(ﬂm@ﬂﬁwmﬁ@wﬁm@ﬁﬁwﬁwﬂmmmn

a)/ﬁ\l/\ b) /J?\/jm/

OH

c) /ﬂ'l\/\ d) u

[Page6of10]
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25. ks
O, T A

| 26.

27.

28,

COOH
1.S0OC| Zn-Hg

Cone HCI
heat

(2= RfeFmr €00 @Nst B 2ea )

2 o @:CH,-C,,H,

Inthe titration of oxalic acid againsta KMnO, solution which of the
following indicator may be used:

(e B1S @ KMno, < BRU st e, Frel® otz a1
I ?)

B. The final product B is :
2.AICI,

2

a) methyl orange b) KI/starch

¢) phenolpthalein c) None ofthe above
Chloramphenicol is an

(G 77 —)

a)  Antifertility drug b) Anti histaminic
€) Antisepticand disinfactant d) Antibiotic
Which of the following fluoride of Xe has zero depole moment.

(Tovx @ o ek Ry @ e[ 7)
a) XeF, b) XeF,
©) XeF, d) both (a)and (c)

[Page7of10]
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X

an

WhichaTthe Dillowing2anmin P O - P hand?

M PO PR D

W Synophasnharsaod B Phaspharcus acid

<) hvm.nhns\hmw ackd O Orthaphosphorie acid
Whisk-o7the follwaingJampounds undesgd nockeaphilic substitution
reaotinn mastassih |

Som aenfive week RERTRE afvaek R Ty
|

» AN O 5 CHX 00

. Wi hagpens when pronansl i react with exosss of formaldatvds in

mes=noeoFCone NsOH solution?
L B i ke IR

32 & andMpTheve thesame configuranion (4 bt Cr is reducing and

Mr*isOxidising —why ?
(O™ & Nin™ TSTRR R R 3¢, Ry O Re s Mn™
TFERE— &= 7)

33 Drewthe strasure af'the fallowing compounds —

(ST vy s B )
3 Xs0F,

= B XeF,
) NE

» CF,
[Page8of10]
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38

| 6

TN RS ENE 4 WA -

N 0
O - nitroplienol is more volanle than I - nitrophenal - why

(o] LD, ST AT ey (i Sl (et v)

£

. . . T TN
Ihe rate constants K and K tor twa difTerent reactions we [0 ¢

'
and 10" ¢ ™1 respectgively. Caleulate the temperature at which b I,

Jo AT

(i Rfvy CRUE 0@ TR AT K K, 20 ST 10" e
G0, ¢ T T S K - K € )

Both NO and C10, are odd electron species. NO dimerizes but ClO,
does not, why?

(NO & CIO, Tera® Rty Brela RS zwe NO wiRuim Dol wia
R ClO, ¥@ a1 — @A)

What will be the comect onder of wavelength of absorption in the visible
region for. [Ni(H,0),]"?, [Ni(NH,),] 2, [Ni(NO,)] *. Give reason.
CINi(H,0),]'?, [Ni(NH,),]"* & [Ni(NO,)]* (cNstafira cwta nfiy
WITATR R S I R e e e we | )

If standard reduction potentials for Fe'? | Fe, Fe** | F*2 and F*! | Fe are
E%. E%and E respectively then establish the relation between EY,E
and ES,

(Fe'? | Fe, Fe' | P2 @R F' | Fe @3 o1 wfteera R qumoy E°, E?,
SRESEMES, E° G E° 97 0 ¥l v atfdy 7 1)

An optically pure halide compound X , gaveand [a] »*=+120.0°, A
mixture of X and its enantiomer Y gavean [a] *=+10.0°. Find the

ratoof X oY in the mixture.
(ST #aw 3l gy g AN (X) (@] 2 = +20.0°. X @
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